T BT A
LI o) 4
1.2 BB BARIRIAZRE T oottt 4

2 L R 5

2. BT TS A 5
2.2 BEUTTTZE (oo 5
23 RATEMIMERIIE oo 5
24 AREEREIRR o 6
2.5 TZEERIRTT oo 7
2.6 FRIUERIZER oo 10
2.6.1 BUMBMER oo 10
2.6.2 BERRZER oo 12
2.7 BEEEPURARADTRBIPE T oo 12
270 BREBETIAPE oo 12
2.7.2 FRARBHTIAPS ..o 13
2.8 BT BEMRTRUELE R oo 14

3 B E MR TIRERAZ s 16

31 BEEEFEERIMET oo 16

301 FRAEMEREIRIATERE oo 16



313 BREEEUE R oo 17
3.2 BB oo 18
3.3 BEE IR T 19

3.3 R e 19

330 B 20

3.2 BRI ~ BER s 21
34 FFFLERIR oo 21
3D R R A 21

3 B R AT SRS A T 21

30 2 B 22
3.6 BIRIZTT oo 23

B30T EMMBEIZTT oo 23

362 BIESEMIEEITTIU 24

3.6.3 BRRVESEMIEEIIL TIBAZ oo, 24

3.64 BMEEIRERETTIIU oo 25

3.6.5 BT o 25
37 FEBEIBTATE ..o 25

370 RREEMERIER/ RS e 25

372 ERBEENERER/NRT 26

3.8 ERMILKERSEEBIEETTIV oo 26



3.9 FTEMR oo 27

390 FORMRAITE TR (s 27
3.9.3 FMMAUTIE oo 27
300 FUIAT ~ TEEBE o 27
30T FIAT RN s 28
300.2 TEEBE oo 28
BT BT oo 29
312 FFBETEMR oo 29
31 R e 29
B4 BEIEE oo 29
34T FREZZIR ST oo 29
342 BEEERIT . o 29
G e 31



1 RIS

11 BRERRI N B

FETWAEMD - AN EZEFRAENEERRERSHNMIERARERERN
ik 2RERERR IZREANENIESR LURE LZME LWEZE - 1L - #ail
2 ELEIURE - R ZBEURBENEREE - Al - 8FFS (41600°C )
IR - B RAERIP O R NS - EARS - #£REEBIEER - NMIRS R
BERNSHAER  BERRLDER B LWEFE KW - AR IEZZ2F Aimtes
FRAERERIDRE - NMREAERUER - R8s - XEANTA 7R - BitE
BAA Y HIR - K TEINEFMNE -

BERETWHORNAR - MEERNA - FENHLONERTNRS - i
RSB BN - RABARY B FORERIERRNNOTE+5E -
— UL R B AR ER AR AR 1 -

1.2 BN EWBRERE

EEERI AR  HEWNE 1



PI7R - R am B IR DUR S IKERN T AB E AR R E]R L - M ERNLUEER
ESREMEE - SHEEANERARARML - FHEE - SREEEMERN -
OZBFEZWE S - UETHE  FNFERSIRE - BT AFEZEERD - ERA
SRES - BIEFESRTETIENR - IREFREMWRNHA - ETHTEE
gE - BTAEEFRNRERTIME - EELNE - AEEAERENEER
MR - EEENRREITESEFRERM BRI A KR BAEZRAN -
ERBRSEPRTEBRARRZEN - RIEA T REEN ) - BEFERE LIRE
AT AR EI DR N EBRAEERBENREBEERSER A PHIREN
4] o

B it A At
e 1§‘§3L R f B 2 1 PR B AR




2 TZiHE
2.1 BitHfESH
P20 ] R A AR B
Wit ASH:

TR TR H 2R 115°CHAEIE] 70°C, A IR 20°CHIH R /K, S50k E
B, WRESTIE. AAKEH Ry 45°C. FORMIFEHEL 0.0001m2-°C/W,
IKOAABEEL 0.00021 m2-°C/W . 1EEFEAIE K FE BAS, ZRPIINEFEAS KT
101.33kPa. CLATE MR FE T K 2R S50 S R s .

vl b, SHREAEK, FE, kgm® FiE, Pas

kJ/kg-°C W/m-°C
7K 4.26 0.618 983 0.0005
R 1.85 0.123 812 0.0002

KR AL BE & 24834kg/h

2.2 Wt HR
(1) /KIEIEEE: IR B L PG 224 ) @, PR I HE DR S N H R
20°C, R E N 45°C.

(2) WAEZHE: BT AR BT AT 4 AR P A e, 1 EL 7 JE P AT 25 3 1k
T, T BLR R R E R KE TR
2.3 T E ME AR

FETEIRIE : X T IR IR AR SRS BE LA, e ViR R mT B ARt H iR
HrFAME. %

FeREH R ERE N: T=(115+70)/2=92.5°C
EFEIK IR E TEIRE : t=(45+20))2=32.5°C
MR s MR B A O S O, 43 3 B IR AR I 2 i

HIZRAE 92.5°CTN I IEEdE 9 -



B

J& p 1=983 Kg/m3

SEIREAZE  CP1=1.85 KJ/(Kg-°C)
RS A1=0.123 W/(m-K)
K pnl=0.2 mPa-s

A HBOKTE 40°CHIPITEEHRE :

B

i p2 =983 Kg/m3
EEEAE  Cp2=4.26 KJ/(Kg-°C)
MR 22=0.618 W/(m-K)

bie)ica A2=0.5mPa-s

2.4 fHBEAERIE R
. HE IR T1=115°C, H LR T2=70°Cii &V m1=24834Kg/h; ¥ 1i]:
R E N t1=20°C, H RSN 12=45°C.

et B (A T30

AT Q=mI1CP1p1(T1-T2)=m2CP2p2(t2-t1)

A m2,ml—A RGP R R, ke/s;
CP2,Cpl AR E R EEA,  T/(kg k)
tl, t2 AR, B OWEE, K

T1,T2—— G, O k
(1) #HIiE
fk#E X Ql=m1CplAT &

QI=m1CplAT=24834x1.85*%103x45=2067430500 Q1=574286.25K
KJ/h=574286.25KW W




(2) “TEMERREE
PIvE /UL N N A KR

FZ:. 115C—70C

7K 60°C<20C

MG Atm f‘-lls‘;f};‘fj“z°Lz4.7°C
43—20
_TT, 115-70
ot —t, 45-20
ta—ty 45-20

P=——= =044
Ty—t, 115—70

BRI AN, ARk TR 082,
ﬁﬁﬁﬂ$§%mﬁzam@t=M7xa&=2&%,

R = 2.25

(3) & H N

_Q  574286.25
- KAt,, 300 x24.7

S 77.50m?

B K=300, M) {5 & A% ST AR A
4) AKH=
m2=Q1/At2CP2=2067430500/1.85*103*20=55876.5Kg/h

2.5 TEE&EMRT

(1) ERAE A

WeH] ©25%2.5 B gl BVE U I ILE u=0.2 m/s
(2) HFRE S ERE R
e ™ 2 e A I SRR A

ns=Vn4di2u
X ne—HBEE T
V—E AR E, mis

d—EHEHRZ, m

m2=172113589.1
25 Kg/h

u=0.2 m/s



u—E LRI IE, m/s
)
ns=Vn4di2u=248349832x34600.785x0.022x0.2=41.21~42
BRE SR E TR K
L=ApndOns=9.483.14x0.025%42=2.87 m
& K L=1600mm, 1|

Ap=2.871.5=2 &%

Ns=9.483.14x0.025%1.5=80.5~81 i

(3) IR ZE R KRR

R=T1-T2t2-t1=210-7060-20=1.25

P=60-20115-20=0.19

LRSERE . XUETEE, B eAt=0.97
PRI 2=
Atm=eAt-Atm=0.97x160.82=156.0 °C

(4) EREHBIR R TTi%

KA HRPE, BRI A 3% 15 = AR B Pk
HIETTHEHES o

B BE a=1.25d,, W
a=1.25x25=31.25~32mm

8 S 0 280 8 L Al )7 TP Lo RS
S=a2+6=322+6=22mm

W AH AR E B DR t=2S=44m, & RN 3 F2 051, — A
40 M, 53 A —15800 41 MRAE B pos:

ns=42

L=2.87m

L=1600mm

Ap=2

Ns=81 R

R=1.25

P=0.19

eAt=0.97

Atm=156.0°C

a=32mm



(5) F"EAR

KAUEREL A, ST AR TTHZ IE T HES A 5. BUE AR
M n=0.7, MFEEAEA:

D=1.05aNTn=1.05x32810.7=361.44mn
Y TR 2R 60~100, HY D=400mm
(6) Frifitk

AR 5 AT IR AR, 5D 5 T i b i (8 B v B oA 5%
RNAZRIR 1/4,01] h 2 h=0.25D=0.25%400=100mm

AR (7] #E B=0.4D=160mm
M i 8 H

N=DB-1=8.37~8 R

S=22mm

t=44mm

D=400mm

h=100mm

B=160



{EL A MR35 S B 828 (0 57 B e AT Ry, o 28 AR 408 1 P e 45 L N=7
e

2.6 BABIZE

2.6.1 RREZE
1) FRERIEMNRE a

20=0.36AdeRe00.55Pr13ppuw1.14

MR EAR L= MIEHS A

de=4x32pt2-n4do2ndo=4x32x0.042-14x0.032271x0.032=0.02m
e 2 Ui 108 L T

S0=B-D1-d0a=0.16x0.41-0.0260.032=0.014m"

FEARE RN E HEE BN

u0=V0S0=5258.5(3460x983)0.014=0.105m/s

Re=deu0pp=0.020x0.105x9830.5x10-3=3190

R RS Pr=4.31

R RS IE ppaw=1, 0

a0=0.36%0.670.020%31910.55%4.3113x10.14=1562.8 W/(m*-K)
2)E N R HAE N AL oi (JoHHAR)
oi=0.023AidiRe0.8Prn

BN AR A n=0.3

il

FE AN E VEE 7

ui=ViSi=24834+3460+9830.785%0.022x81+2=0.204m/s

N=7 Ik

de=0.02m

S0=0.014m’

u0=0.0105m/s
Re=3190
Pr=4.31
ppw=1

a0=1562.8W/(m’

n=0.3



Re=0.02%0.204x9830.2x10-3=4084.8

RS TR

Pr=2.743x103x0.2x10-30.123=13.86
0i=0.023x0.1115.020x4084.80.8x13.860.4=389.21 W/("K)
)Y FABHANE BEFAIH %45 F P65 AIHY

B M5 3 HBE RO=0.26x10-3 m*K/W
WIS IR ABE Ri=1.056x10-3 m*-K/W

B ORE PVPH L B AN E 925°CHI £ TR G KON
Aw=44.19W/(m-K), LA

Rw=bAw=0.002544.19=5.66x10-5m"-K/W

4) HEHE RS Ke N

Kc=1d00idi+Rid0di+Rwd0dm+R0+10a0

AR KC=182W/("K)

5) AR

LR Ac A
AC=QKAtm=243.87x103182x160.82=8.331

U] 2% 62 R 5 1) T AR FE
H=AP-ACAC=9.48-8.338.33=13.6%

PRI R BE 53, i e P BE N8 ST R P AT 55

2.6.2 BERZE
PR AR RIS, BRI S 35 A A B, i f s
A NS W

Q=ahAhTm-Tw=acActw-tm

ui=0.204m/s

Re=4084.8

Pr=13.86

ai=389.21W/(m’
K)

R0=0.26x10-3m’
‘K/'W

Ri=1.056x10-3
m*-K/W

Rw=5.66x10-5m’
‘K/'W

KC=182W/(m*K)

AC=8.33m’

H=13.6%



PORAR IR N Ah=nd01=7.63m’
PRI Ac=nrdil=9.53m®
1) fERERER T

Tw=92.5-2438707.63x389.21=122.87°C

tw=30+2438701562%9.53=46.38°C

T=Tw+tw2=84.62°C
2) FeikEER t

F T SRR AR BEAS e, AT A ABLERC A % B4~ 22 0 P,
t=t1+t22=40°C

3) FelkRER S & RERRZ 7208
AT=T-t=84.62-40=40.62°C

221 2 UK, 7 T B P 45 T AR PRI i
THEATHME.
2.7 BB A TARRITRBIE T

2.7.1 B SIAPT
APt=APi+APrNSNpFs

UE SR R B FS=1.5
HETH AP N
APi=Aildipu22=0.048x1.60.02x983x0.20422=51.44 Pa

Ja i BE I APT Ry

APr=¢£pu22=3x983x0.20422=42.87 Pa

Ah=7.63m’

Ac=9.53m’

Tw=122.87°C

tw=46.38°C

T=84.62°C

t=40°C

AT=40.62°C

FS=1.5



il
APt=51.44+42 87x1x2x1.5=282.93 Pa

2.7.2 AR J1APS
APs=AP0+APiNSFs

Hrh AR I R 3 Fs=1.15

ET A,
NT=1.19NT0.5=1.19x810.5=10.71

I AR
S0=BD-NTCd0=0.16x(0.4-10.71x0.02)=0.029m’
ETHEFIIE O BH 7 B 2R, 1 = A JEEL F=0.5
FRE R EEE N 10
f0=5xRe0-0.228=5x3191-0.228=0.794

SERELA L S B/ NN u0
u0=V0S0=5258.53460x9830.029=0.05 m/s

APO=FfONTCNB+1pu022=47.46 Pa
APi=NB3.5-2BDpu022=26.78 Pa
Ul
APs=47.46+26.78x1.15x1=85.37 Pa
(3) AN

AP=APt+APs=282.93+85.37=368.30 Pa

APi=51.44 Pa

APr=42.87 Pa

APt=282.93 Pa

Fs=1.15

NT=10.71

S0=0.029m’

F=0.5

{0=0.794

u0=0.05 m/s

AP0=47.46 Pa

APi=26.78 Pa
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